Ratio to LHCB

do /de [mu b/MeV]

(IR
o

1072

0.5

_r000 Gev pp

ISolft QCID

PT(p (2.44 <y < 4.06)

Rivet 3.1.0, = 5.4M events

0
™
<
o™
©
o
™
—
m LHCB I A = =
_ --3-- Herwig 7.2.0 default ) S
— —a— Pythia 8.108.p1 default R ¢ =
E ----- ¢ Sherpa 1.2.3 default a E EJ_
)
- mis
o
- _lo
= — PR RO RO NPT NN AU HPUT SO RO N AU RPN R SR , | P I T B = -
:I T | T T T T | T T T T | T T T T | T T T T |:
— =2
- e
1
e L AR T PURRRSE LS Py —0.5
1 ""I--f'.-l..f.--I..?.--I--?”;“’.-I-“?--l----u--f ------ o f 1 | " 1 1 " f-u 1 " | " 1 " 1 " 1 " 1 " |
1000 2000 3000 4000 5000

p_Fr’hi [MeV]



	Contents
	Page 1


